25.01.0% n3nam RN : 2332 7198 92 NWIDTIN
TIAMD 7 "7 M N MR
"2 NIURINIDYT NININRY R 12 A0 i

' 0201.1.9171 ompn 'on
’ Xm0 R VM
mew 3 -maeman qen
: MY N

TOP 2% QY NWMY MRA0 57 2 X272 1K

(NY7IP2 20-% m moRw 5w pwn) mkan mbRwn 5 9y nvb we

) g 'on e
TR ARNWAT B 299 11ND Y/R¥N

2 .

xyy =——F—<+y
m{zj

2
X

2 'on R
TR IRNWAT NX N5 /10D

2x~1)*y"-32x-1)y +4y=4
.y =0, y'(1)=2 n%nam xin oy

noYn Hw 990 Png /RYN W3 'on TeRw
X =2x+y—3e"
Y =2y+x+2¢e

4 'on ahRw
IR IRNWRA N

»" =y 1-x)y=0

2990 1ND /R¥n Ly, = €F X7 w mamnen TR (1 10) (R

NRoM RIXA? TIX). 2, =1 2220 MPI M0 MYXARI TRIWAT TMX DR NNd /0o (pa 10) (2
(.MBINAT O DR W NI ATPRY 7A°0]

:099% NANT NATY2 AR 7OV DR N0 /N0 L5 'on ThRw

y' =6y +9y=g(t)+5(t-2),
y(0)=0, »(0)=1,

e 1Lt<2 -
. g)=
0 rell,2]

TN
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